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DIMENSION E(50,
50), C(50), B(30)
READ(2, 100N
10 FORMAT(15)
READ(2,20) (I(1, 1), J=1N).I1=1,N)
20 FORMAT(20F4.0)
READ(, 20) (CD,I=1,N)
M=N-1
DO 50 I=1,M
L=I+1
DO 50 J=L,N
IF(E(], D) 30,50, 30
30 DO 40 K=L,N
40 E(J,LKO=E(.K)—E(K) %E(J D/E(LL
CH=CH-CMDkE D/EID
50 CONTINUE ‘
B(N)=C(N)/E(N,N)
DO 70 I=1,M
=N-1I
L=K+1
DO 60 J=L,N
60 CK)=C(K)—-B(D*AK,]D
70 B(K)=C(K)/E(K, K)
WRITE(3,80) (B(I),I=1,N;
80 FORMAT (1HO, 10(E10.4,1:<))
CALL EXIT
END
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DIMENSION

E (50, 50). C(50), B(50)

READ(, 10) N
10 FORMAT(5)

READQ, 20) ((EI.D,J=1,N),I1=1,N)
20 FORMAT (20F4.0)

READ@,20) (CD),I=1,N)

DO 30 I=1,N
30 B(D=o0.

J
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DO 90 L=1, 100
TO=o0.
DO 70 I=1I,N
Y=C(D
DO 50 J=1,N
IF(I—-]) 40,50,40
40 Y=Y—-E D*%kB
50 CONTINUE
A=Y/E{,D
AB=ABS(A-B(I)
B(h=A
IF(AB—=TO) 70,70, 60
60 TO=AB
70 CONTINUE
I (TO—0.00001) 100, 100, 90
90 CONTINUE
100 WRITE@,110) L, TO
110 FORMAT(IHO,’IT ERATION TIME =,
13,10X, 'MAXIMUM DIFFERENCE =/,
E10.5 1)
WRITE(3, 1200 (B(D), I=1,N)
120 FORMAT (1HO, 10(E10.4, 1))
CALL EXIT
END
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DIMENSION E (100, 150), C(100)
READ(2,10) N, M
FORMAT (215)

READ®, 200 (E D, J=1.M),I=1LN)
FORMAT (20F4. 0)
READ(,20) (C(D,I=1,N)
MC=(M--1)/2

N1=N-1

DO 70 1=:1, N1

CI) =CM/EU, MC)

DO 30 JJ=2,MC
J=J]+MC—-1

EQD=Ed D/EI MO

DO 60 K:==2, MC
JJ=MC-K+1

I=I+K--1

IE(N—II) 70,40, 40
J=MC—-K+1

DO 50 L==2,MC

J=J+1

LL=L+MC-1

EAL H=EdL D-EdLJD*E{ LL)
CAD=CUD-CO*EJL D
CONTINUE
CN)=C(N)/E(N,MC)

DO 90 J=1,N1

DO 80 K=2,MC

KK=MC +K—1
LL=N-J+K-1

I=N-]J

CH=CM—-EJ, KK)%C(L)
CONTINUE

CONTINUE
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95 FORMAT(1HO, 10EI1.4)
WRITE(3,95) (C(),I=1,N)

CALL EXIT
END
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DIMENSION MC(100, 6,
D@00), C(o0), B(100)
READ(,10) M,N
10 FORMAT (215)
READ, 200 ((MC{, D), J=1 M), I=L,N)
20 FORMAT (2014)
READ(2,30) (EL D, J=1,M),
30 FORMAT (20F4.0)
READ(, 30) (D), I=1N)
READ(, 30) (C(D,1=1,N)
DO 40 I=1,N
40 B(I)=0.
DO 100 L=1, 100
TO=0.
DO 80 I=1,N
Y=C)
DO 60 J=1,M
K=MC((, )
IF(K) 70,70,50
50 Y=Y+E{d, D%kBEXK)
60 CONTINUE

E (100, 6),

I=1LN)

EREEE 248 £ 2% 19754 35

70 A=Y/D)
AB=ABS(A-B())
BM=A
IF(AB—-TQ) 80, 80,75
75 TO=AB
80 CONTINUE
IF(TO-0.00001) 200,200, 100
100 CONTINUE
200 WRITE(3,85 L, TO
85 FORMAT(HO, ‘ITERATION TIME=",
13,10, ‘MAXIMUM DIFFERENCE=
E10.5 1)
WRITE(3,90) (B({ID,II=1,N)
90 FORMAT(1HO, 10(E10.4, 1x))
CALL EXIT
END
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DO 998 I=1, MI
READ(,3) (KSI, D, J=1,N3
CONTINUE
DO 410 I=1, MI
QD =1.
IX=0
DO 408 J=1,N3
K=KS(, D
IF(K) 409, 409, 402
S, ) ==1.
IX=1X+1
CONTINUE
FO=FLOATUIX)+0.1
CONTINUE
N2=0
IX=0
IY==0
KEY =
KK=1
M=KNOWN(KK)
DO 420 I=1, MI
IF Q1)) 420,495,412
DO 418 J=1, N3
K=KS{, )
1F(K) 420,420,415
IF(M—K) 418,416,418
S p=-—
F(h=FMO-1.
GO TO 420
CONTINUE
CONTINUE
IF (KEY) 417,417,750
KK=KK+1
IF (KK—KN) 419,419, 750
BX=100.
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421
422
425

428
430
432

440

442
443

450

458

459
460

461

-465
480

481

fettel fkal e = 17

DO 425 1=1, MI
IF(Q(L)) 425,495,421
1F (F (D) —BX) 422,425,425
BX:=F(D

CONTINUE
BX=BX+0.4

DO 430 1=1, MI
IF(Q(D) 430, 495, 428
IF (F(I)—BX) 432,430, 430
CONTINUE

M=I

IF(BX—1.) 440,459, 459
DO 450 1=M, MI

IF (Q(D)) 450, 495, 442
IF(F(I)—1.) 443,450,450
L=MI-IY

D(L)=1

IY=IY+1

QD =—1

CONTINUE

IF QY +IX—MID) 750, 455, 495
DO 458 =1, MI
IF(Q(D) 458,495, 459
CONTINUE

GO TO 490

IF(BX—2.) 460, 480, 180
DO465 J=1, N3
1F(SOM. ) 465,495, 461
QM=—1.

IX=IX+1

DAX) =M

L=KS(M,

KSOM, J) =—

M=L

KEY=KEY +1

GO TO 411
CONTINUE

DO 485 J=1,N3
IF(S(M, J) 485,495, 481
N2=N2+1

M=KS(M, D)

NS(N2) =M
KEY=KEY-+1

GO TO 411
CONTINUE

# R

UG R ek Bk

490 DO 491 T=1, MI
F (D) =KS(I N3)
DO 491 J=1,N1
S, D=KSd, D
DO 493 I=1, MI
K=D(D)

DO 492 J=1,N1
KSILD=SK, D
KS(I, N3) = F (K)
GO TO 497
WRITE (3. 496)
FORMAT (/5X,
GO TO 800
WRITE (3. 198 N2, (NS(D),
FORMAT('//15, 10, 2015)
DO 1000 I=1, MI

WRITE 3.3) (KSL D, J-=1,
IF(N2—-M3y 499, 199, 702
WRITE (3. 703)
FORMAT(5 <,
GO TO 800
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